
SAP ABAP table TICL870 {Distribution Percentages for Incident Years}

TICL870

CLIENT [CLNT (3)]

ACCOUNTINGYEAR [NUMC (4)]

RESGRTYPE [CHAR (10)]

RESGRCLVERS [CHAR (10)]

RESGRCLUSTER [CHAR (10)]

RESGR [CHAR (25)]

T000

MANDT [CLNT (3)]
 TICL870-CLIENT = T000-MANDT 

0..N

0..N

TICL860

CLIENT [CLNT (3)]

RESGRTYPE [CHAR (10)]
 TICL870-RESGRTYPE = TICL860-RESGRTYPE 0..N

1
TICL866

CLIENT [CLNT (3)]

RESGR [CHAR (25)]

 TICL870-RESGR = TICL866-RESGR 
0..N1

TICL868

CLIENT [CLNT (3)]

RESGRCLUSTER [CHAR (10)]

 TICL870-RESGRCLUSTER = TICL868-RESGRCLUSTER 

0..N

1

TICL869

CLIENT [CLNT (3)]

RESGRCLVERS [CHAR (10)]

 TICL870-RESGRCLVERS = TICL869-RESGRCLVERS 

0..N

1


